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HPC TEST: C}ﬁpter 2.1-2.4 Form A NO CALCULATOR
Honor Statement
By signing my name, I am verifying the following statement is true.

In completing this test, | pledge on my honor that:

[ will/have completed all steps of the attached test on my own. I did not directly copy ANY solutions
from my peers nor did I use any calculators or other resources other than MY notes. [ understand
if [ violate this honor code, [ will receive a zero for this test. I further understand that if I fail to submit
this test on time it will be considered late, and 1 will receive 70% of the final grade. If I am absent |
understand I will be required to take the makeup version of the exam.

Signature: Date:
Signature and Date
Only tests with the SIGNED Honor Statement at the top/front will be graded.
Part I: Multiple Choice
Put your CAPITAL LETTER answer choice in the blank to the left of the number.

2x2-5x6+9x%*-3 No & Wau?-
Al. Determine ifg(x) = 2 is Even dd, or Neither.

Even (B)0dd  (C) Neither (D) Coke  (E) Is Pepsi OK?

_B_ 2.1fg(x) = 4In(3 — 5x) — 3, the interval over which g(x) is decreasing is
Q= 4in (S(-2))3 ; ;
(%) (=0, 0) (—oo, E) (© (—oo, - g) (0) (=0,3)

(E) g(x) is not decreasing on its domain.

4
Qr 3. Find the domain of f(x) = 5 — —ln(2x -9).
)= - \n(Z('x- 1))+s

() Dy: (—o0,2| (8 D: (—os )@Df( ,00) () Dy:|2,00) (£) Dy: (—o0,0)

F 4. For which of the following functions i 1s the RANGE of f(x) = (|x|)7

Xfx=J IIf )=+x ML f(x)=Inx
W ‘ SE

(A)ITonly (B)Ilonly (C)Illonly (D)IandIIlonly @II and III only

-1
2 43T i
ﬂ_ 5. The graph of the function g(x) = 375

transformations on the graph of f(x) = |x|? S(x < --‘ 3(1_ )‘ +§

has which of the following

Right% (B) Left % (9] Right P (D) Left P (E) None of these are correct



B 6. In the function g(x) = 8x3, the 8 stretches the graph of f(x) = x3 vertically by a factor of 8.
This is equivalent, to w t.gther transformation on f to produce the graph of g?
s he L

(A) Horiz. stretch bfo 8 Horiz. compression bfo 2 (C) Horiz. stretch bfo 2

(D) Horiz. stretch bfo 2 (E) Horiz. shift left 8 units

E7Wr1tef(x)—8—

53— in standard transformation form.

2-7x
2- 3=4§
@ f(x) = +8 (B)f(x)——+8 (C)f(x)——+8
e 3) 4(x-3) 3(x-3)
4
0 /@)= T3 +8 @f(x) = ot
3
# )= - = “’._‘ - ___
() q( X3 ) x-% 5(‘&--)
DS Which of the following is NOT true about the functiong(x) = ;x;ii 41} (:::&M\
( Ithasaholeat(—l,g). ( IthasaVAatxz%. IthasaHAaty—%.

- ‘- q _ ?
It has rotational symmetry.  (E) Ithasay-interceptof (0,4). zZ¢n-, “-3

ﬂ 9. In the function g(x) = %, the 2 compresses the graph of f(x) = zby a factor of 2. This is
equivalent to what other transformation on f to produce the graph of g?

@Vertical compression bfo 2  (B) Vertical compression bfo 10  (C) Horizontal compression bfo 2

(D) Horlzontal stretch bfo 2 (E) Vertical compression bfog

3(”") 7.’)(. 2 ( 7&\

D 10. If the function j(x) is the function h(x) = 6 — 3V 2x — 7 afteritis reflected across the
x-axis, vertically compressed by a factor of five before being shifted left two units and up four
units. Which of the following give the function j(x)?

(A)j(x)=§ (x——)+10 (B)j(x)=—§ 2(x+%)+10
(© j() = =220 +2) + 4 j(x)=§ (x——)+1o

() j(x) = —15 /2 (x -3+ 10
YJOON=-=2 2 (x-F42) +Lo+4

A= 3 (9 /a0 3~ .
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HPC TEST: Chapter 2.1-2.4 Form A NO CALCULATOR

Honor Statement
By signing my name, I am verifying the following statement is true.

In completing this test, | pledge on my honor that:

[ will/have completed all steps of the attached test on my own. I did not directly copy ANY solutions
from my peers nor did I use any calculators or other resources other than MY notes. [ understand
if [ violate this honor code, [ will receive a zero for this test. I further understand that if I fail to submit
this test on time it will be considered late, and 1 will receive 70% of the final grade. If I am absent |
understand I will be required to take the makeup version of the exam.

Signature: Date:
Signature and Date
Only tests with the SIGNED Honor Statement at the top/front will be graded.
PartII: Free Response
Show all work in the space provided. Show all steps and use proper notation. Remember that on this
section, your PROCESS is as important as your PRODUCT.

11. For f(x) = -2 —=e

(a) Write f(x) in standard transformation form.

v

)= - % e—s(%°%\~l I\

(b) Describe the sequence of transformations using the function you found in part (a).

-vefuct x -0xS

. bl 2

L TC TN 12

* oria. tomp. bfo 3.

. 4
g 3

- down L.

(b) Find the simplified, exact value of the y-intercept.
-3(w)-3F

flo=-2etalV

~ok




(c) Sketch f(x) showing the basic shape, correct y-intercept, and any/all asymptotes.

 ZS— D TS TTTTI TR, > m‘f’a%
I/ Shopt is
d) Find D¢: , Find R¢: .
Oy (o0, oM | PR (o0 -2) o,

Py R Ry {ylye2y

(f) Find the Equation(s) of any/all asymptotes. Be sure to label which type‘fhey’ are.

%) hos o[ HR &t f—a’.u/a

(g) Describe the end behavior of the function f(x).

Vv,

. { :
U ) -0 Limd)--2.
X=> -0 X=>00

(o)




